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Name: Date:

Physics Do Now: Pendulum and Energy

1. On the following axes, sketch the line to represent the relationship between:

PE, and the change in length of KE of a moving object and its

the spring from the equilibrium speed v.

position X.

PE, KE
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Transparency
Worksheet

Use with Chapter 11, Sections 11.1, 11 .2.

Energy Transfer
1. What two types of energy occur in this spring-block system?

32 Transparency Worksheet

Pe, ke

How are these two types of energy defined? '
PEq > % L Ke = Zmvu®

When is kinetic energy at a maximum? Why?

When is elastic '&otenﬁal energy at a maximum? Why?

= t dmax (X s 7yuwﬁ¢()

—

As the elastic potential energy increases, how does the kinetic energy change? Is thls an example of

an open or a cdosed system?
PEs b A ko <C05¢4 gw)ﬁ« D
\\
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How does the sum of the kinetic and elastic potenual ener

change? What principle does this
demonstrate?

PCsd (e /&Mﬂ/m Con 5@ b o
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How many times during one cycle are the elastic potential and kinetic energy equal?

In reality, this cycle would not repeat forever. What would happen 10 the energy?
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Physics: Principles and Problems
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